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Instructions :

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
2. Write your name and registration number on the cover of this question booklet.

3. Please use a pencil and write your answers neatly ONLY on the answer sheet provided.
DO NOT write or draw in the circle next to each answer box. No mark will be given if you
failed to follow this instruction.

4. If the information printed on your answer sheet is not correct, please inform the invigilator
immediately.

5. Rough-work sheets provided will be collected at the end of the contest but they will not be
marked.

6. Diagrams in this question booklet are not necessarily drawn to scale.
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Part 1 Calculation E&E

1.

25+49=7

(correct to the nearest thousandths) EFEZ 30 T4
128+25+04=7

0.4 x % +0.8 x % +0.16 x % =?

60% + 0.5% = ? (Answer in percentage)

10% x 25% x 40% = (Answer in percentage)
125+7x%x5.6

6.5 x 99i

13

493 - 116 =7

Please turn over the page.
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[2 marks]

[2 marks]

[2 marks]

[2 marks]

[2 marks]

[2 marks]

[2 marks]

[2 marks]
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Part2 Fundamental Questions =2
9. 10 litres of water are poured into a 10 AACEAR 40cm - 58 20cm B9 [3 marks]
plastic box with length 40 cm and width B&ERX - KHW5EEZ%/> cm?

20 cm. What is the height of the water

level in cm?

—

20cm
40cm

10. If x+27=15 ,then 3x+50=" =x+27=1 - 83x+50="7 [3 marks]

11. Sally bought a pack of cheese balls and [3 marks]

5
il
h

1
BIZ 43K - 23R 3 (PN
1
ate 3 of them. Later, she bought another
1
pack of cheese balls and then ate 3 of
1

BRI = - REBR > &

all the remaining cheese balls. Finally, B 3 REERT 0 Hl - BSE

90 cheese balls were left. How many ZHIKIREZ /DR ?

cheese balls per pack are there?

Please turn over the page.
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12.

13.

14.

A 3-d shape has 186 edges and 124 —Bl17 8275 186 15k1% - 124 @R - 3=
vertices. How many faces does this 3-d  {E1752 8 %/MEM ?

shape have?

There is a promotion in a cake shop. Buy &EfEEETHRE - E—%_ - BlIf] 7
3 get 2 free. What is the discount Z /i ?
percentage?

The length of a ribbon is 90 cm. Kelly H#5 R 90 cm - NRIB#ATE R E

cuts the ribbon into segments of 4.6 cm 4.6 cn —E% - AR T4 S 1.3

each. Then she cuts the remaining part of c¢m B} —E& - mBHLBIAAATE /D

the ribbon into segments of 1.3 cm each. % ?

How many segments are cut from the

ribbon?

Please turn over the page.

B

[3 marks]

[3 marks]

[3 marks]
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15. There are two groups of squares. How NEBMALERE - A—HAAEIELL 3 marks]
many cm? larger is the total area of the ~ #H_IMREREAZ /D cm?2?

group 1 than that of the group 2?

Group 1 #H— Group 2 #H_—

2020cm? 2017cm? 2019cm? 2018cm?
16. Number A is 2 of number B. Number B 2 [3 marks]
. u u . Nu
3 PURZHW 7 - CHERBH 08

1s 0.8 times that of number C. What
B - RPN E D 247

percentage of number A is number C?

Please turn over the page.
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17. The figure below is made of 4 identical N EHVEA/NEGEIRYFE X —1EIE  [3 marks]

semicircle and a square. If the perimeter AR - BIEAFEHNERZ 2.8

of the square is 2.8 cm. Find the cm - NEIWERZEZDEKR?
perimeter of the figure in cm. 22
(B r= 7 )

22
(take 7= - )

18. The radius of a wheel of a bicycle is 21 ~ EBEEEEEHFIR 21 [EK - B17E 300  [3 marks]

-

=/ BEEZ /D ESTERIE ?

““1]

cm. At least how many complete cycles 7

of the wheel are needed to travel 300

metres?

Please turn over the page.
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19.

20.

Part3 O Math Questions =&
There is a bag of flour. 20% is used at M —el - SeHE20% - BERAER [4.5 marks]
first, then 10% of the remaining flouris N 10% - EEREHHE 14 A -

AR ?

W

used later. If a total of 1.4 kg of flour is s RA

i

used, how many kg of flour are there

originally?

A total of 22 people from two schools A B« /A WRIELE 22 ASNNFHESS - [4.5 marks]

1
and B take part in a competition. 5 of

1
PREMABEH c LEOREMAE
the number of participants in school A is

B~ DTN SRBZDVAZ?

4>|4

1 fewer than that in school B. How many

participants are there in school B?

Please turn over the page.
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21. 400 stickers are shared among some B 400 SRR D AETREE - 5 A [4.5 marks]

n]

students. Each student can get at least #Ee D B2/ D—IRRAAY - BEBABERE
one sticker, but not more than 11 @B ROBZOEEBEEN
stickers. At least how many students get ~ BHAXSEZIAHE ?

the same number of stickers?

22. A,B,C,D,E and F are 6 points on a A~B~C-D EM FRELWG6 [4.5 marks]
circle. Find the number of triangles that  2fi - Sk 35 6 BH O] LUER AN =&

can be formed by linking these points. g s -

23.  Tommy was born in a day in 2002. The ~ /\F1E 2002 EEFFEH AL - i [4.5 marks]
product of the day, month and year of the A HEWE - B - B BERIGF 2
date of his birth is 638638. Which month 638638 ° /J\JTTEH B H4E ?

was Tommy’s birthday in?

Please turn over the page.
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24. Inthe figure, ABCD is a trapezium, the ~ £E T - ABCD 2% - CD WRE  [4.5 marks]
length of CD is twice the length of AB, = AB iIMfE - BC 2 5cm - DE 2

BC is 5 cm, DE is 8 cm, find the area of  8cm - SKAEFZABCD WETE -

trapezium ABCD.
A B
E
D C
25. Inasimplest fraction, the numeratoris 1 —fE&EEDE - HFEA /D13 [4.5 marks]
less than the denominator. If 83 is DFEZE 83 - A EIINLE 116 - DEHA

subtracted from the numerator and 116 is F=9 FH 6 {Z - SKIFREHE -

added to the denominator, the

denominator is 6 times the numerator.

Find the original fraction.

Please turn over the page.
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26.

27.

28.

Rewrite 14 as the sum of some natural
numbers, what is the largest product of

those natural numbers?

How many 3-digit numbers with the
hundreds digit larger than the tens digit
and the tens digit larger than the units

digit are there?

The sum of four numbers A, B, C, D is

85.

a=A*+B’+C*'+D’
B=A°+B*+C°+D°
y=A*+B>+C°+D’

Among a, f, y, how many odd numbers

are there?

< coHPMhm
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14 ZpETRBARBAA - BE

LEENERAZEZD?

BARRAAL - B HUXAREL

W=(IBBZ D E

MEg= A, B, C, D2z 85 -

a=A>+B’+C'+D’
B=A’+B*+C>+D°
7=A*+B +C°+D’

a, B, y EREHPHEEZMEZTEH ?

Please turn over the page.

!

[4.5 marks]

[4.5 marks]

[4.5 marks]
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29.

30.

Find the integral part of the complex

) 1
fraction T . T . T . T . T after
30 31 32 33 34
simplification.

X and Y starts their journeys from places

A and B respectively towards each other.

When they start their journeys, the ratio

of their speeds is 3:2. When they first

meet, X increases his speed by 20%, Y

increases his speed by 30%. Then, when

X arrives at place B, Y is still 28 km

apart from place A. What is the distance

between places A and B in km?

BRYREMD -

B OMADRINEA - B 3
MEMT - LR MPIRRELLE

32 MBS —RMEBR - PRREE
'S 1 20% « OWERERS 1

30% - 5 - EFFEB M - OB

AtniEs 28 N8 - ABEE A - B Wit

BV EZS D RE ?

End of paper

P eyl
E%m

[4.5 marks]
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